= MA DFEBBIEQR020F)EEMNABEE  75HiF0

HER
n=626

&
¥
£
2
N

=40
n=130

EAR®
n=47

23% 32%

5

=i
n=64

28% 36%

ST AGET
n=36

Bk
n=52

35%

E

...
#
§
I|IIII # ] ¥

sPn
n=33

15% as%

FEM
n=30

20% 30%

FHEH
n=53

EF M
n=18

39% 22%

T
n=25

12% 32%

mah
n=22

23% 18%

B
| #

Eisany |
n=52

o
1
®
w
¥
o
*

AR
n=22

14% 27%

H EFET
n=15

3% 40%

EFH
n=*

§ I

27%

o M

&

=5
"
#

-
§
¥

e IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
20% 20% 20%
n=k
£
100%
n=
bt ARRES, @ m bR u T Of - BRAER w FiE oA

AR F w2 =2



